
STYKLISTE
Side 1

MODEL 9218SB

Pos. Art.nr. Betegnelse Stk. Note

001 156993-0 GEAR HOUSING COVER COMPLETE   1
INC. 13

002 212004-2 NÅLELEJE TLAM 810(2120   1
003 961055-9 LÅSERING S-15   1
004 254001-2 KILE NR. 4   1
005 221273-4 ZAHNRAD   1
006 312368-5 GETRIEBELAGERGEHAEUSE   1
007 911171-7 PAN HEAD SCREW M4X45   2
008 911161-0 PAN HEAD SCREW M4X35   2
009 211206-7 KUGLELEJE 6202LLB   1
010 325425-0 ACHSE   1
011 285809-3 AKSELBØSNING   1
012 224515-5 FLANGE 48   1
013 263002-9 GUMMISTIFT 4   1
014 211101-1 KUGLELEJE 6001LLB   1
015 961052-5 LÅSERING S-12   1
016 241044-3 FAN 68   1
017 512405-7 ANKER (9218SB)   1

INC. 14-16,18,19
018 213002-9 NYT # 909603   1
019 211033-2 KUGLELEJE ### 211031-6   1
020 263002-9 GUMMISTIFT 4   1
021 411241-7 RING   1
022 911681-4 SKRUE M5x60   2
023 528701-3 FELT (9218SB)   1
027 811828-9 NAME PLATE 9218SB   1
028 159596-9 MOTORGEHÄUSE 9218SB   1

INC. 20
029 181030-1 KULSÆT CB-100   1
030 643600-9 KULDÆKSEL 6-10   2
031 651232-8 AFBRYDER SGEL206C###(651268-7)   1
032 645209-3 KONDENSATOR 645209-3   1
033 665394-6 LEDNING   1
034 682502-4 KABELBESKYTTER 8-85   1
035 687031-2 KABELAFLASTNING (BO4510)   1
036 911133-5 SKRUE M4x18 (BO4510)   2
037 911138-5 SKRUE M4x20   2
038 414994-7 GRIFFSCHALE 9218SB   1
039 819063-3 MAKITA KLÆBEMÆRKE   1
400 743008-8 GUMMITELLERKEN   1
401 794094-2 ABRASIVE DISC 180 #50   1
402 152492-0 SIDEGREB 36   1
403 781008-0 GAFFELNØGLE 17   1
404 782412-6 NØGLE   1



EKSPLOSIONSTEGNING
Side 1

MODEL 9218SB


